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PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer
sheet.

41- My father ... a special ticket each week for the bus because it is cheaper.
1) usually buys 2) buys usually 3) is usually buying 4) usually bought
42- When Daniel was in Canada, he ... skiing almost every day.
1) go 2) goes 3) went 4) is going
43- The young Chinese runner is planning to ... in the next Olympic games, and that is why he is
practicing so hard.
1) donate 2) interview 3) participate 4) stay
44- 1 went to my doctor and received some excellent ... on how to keep my weight down.
1) advice 2) culture 3) attention 4) charity
45- My friend, Mahdi, had an accident yesterday, but luckily the injuries were small cuts and ... on his face.
1) courses 2) bruises 3) martyrs 4) ankles
46- On our third night on the island, we ... a car to take us out on the town.
1) sent 2) surfed 3) attended 4) hired

PART B: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

47-

49-

50-

“Solnal”” is one of Korea’s holidays. It is the Korean New Year. Families travel to visit relatives.
An important part of the holiday is the “Sebae”. It means showing respect for old family
members. People eat rice cakes and noodles and play old games. People don’t sleep and are awake
till midnight to say goodbye to the past year. And they think if you sleep, your hair changes white.
Most children know this is not true, but they like to stay awake.

According to the passage, which of the following is NOT TRUE?

1) Korea has several holidays.

2) Sebae is the Korean New Year.

3) People go to visit their relatives in Solnal.

4) 1t’s not true that if you sleep at Sebae night, your hair color changes.

According to the passage, people in Korea ... .

1) don’t like Solnal 2) stay at home in Solnal

3) celebrate solnal as a part of sebae 4) stay awake longer before the New Year
The passage states that children ... .

1) go to bed earlier in Solnal 2) have white hair

3) change their hair into white 4) say goodbye to the past year too

The underlined word “this” in the passage refersto ... .
1) playing old games

2) eating rice and noodles

3) the belief that sleeping changes people’s hair into white

4) showing respect to the old people in the family
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PART C: Grammar and Vocobulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer
sheet.

51- My father loves Alborz Mountains. He wants to go to Tehran to visit all of ... .

1) it 2) they 3) them 4) their

52- We got to the ... just as the bus was getting out.

1) station 2) hospital 3) festival 4) ceremony

53- Excuse me sir! | didn’t ... the meaning of this word. Can you please repeat it again?

1) think 2) understand 3) guess 4) read

54- We know your company has offices all ... the world.

1) about 2) around 3) together 4) round

55- There are lots of ... ceremonies like 15th of Sha’ban to celebrate in our country.

1) personal 2) favorite 3) religious 4) possible

PART D: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

on your answer sheet.

Today, my friends and | want to go to the cinema, but my best friend, Jim, does not come with u.s.
He fell and ...(56)... his leg two days ago. When | went to see him, he said that it ...(57)... a lot.
Her mother is now ...(58)... care of him, and she worries a lot about his ...(59)... . Jim has to stay
home for a week. When the doctor came to see him, Jim said that he ...(60)... to stay home and

wanted to go to school, but the doctor advised him to stay home and relax.

56- 1) happened 2) broke 3) stuck 4) had
57- 1) hurt 2) put 3) spoke 4) lived
58- 1) making 2) doing 3) taking 4) cutting
59- 1) accident 2) health 3) yard 4) plaster
60- 1) did like 2) not like 3) didn’t like 4) liked
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